




Create-A-Bed ® LLC
GEI 

QUEEN HORIZONTAL (SIDEBED) murphy bed mechanism 
PLYWOOD CONSTRUCTION 

' 

i 

Four (4) BALL STUD PLATES 

Two (2) GAS SPRINGS with Twelve (12) black #10 x 3/4" 
screws and Eight (8) "T" nuts 
with machine screws 

' i 

Two (2) Metal Pivoting Legs 
Two (2) 1/4" x 2" Leg Support Rail screws 
Four ( 4) Black # 10 x 3/4" screws 
Four ( 4) "T" Nuts with machine screws 

One ( 1) Green PLYWOOD CONSTRUCTION booklet 
One (1) Purple ASSEMBLY AND INSTALLATION booklet 
Online Video: bit.ly/deluxehorizontalvideo 

® 
©CREATE-ABED 2012, 2018, 2021 

Two (2) pair of METAL PIVOTS 
with Two (2) plastic spacers 
Two (2) "E" CLIPS 
Four ( 4) "T" nuts with 
machine screws 
Twelve (12) # 12 x 3/4" silver 
screws 

Two (2) BED STOPS with Two (2) 
#10 x 3/4" black screws 

Two (2) ELASTIC MATTRESS 
RETAINING STRAPS 

i 

https://www.youtube.com/watch?v=MOyXyDA8ml0&t=3573s












































STEP 14: 
Mounting the foot rail PART C and head rail PART 
D. Using an 1/8" drill bit, drill two holes between
each strut (total of 8 holes per rail) 1-1/4" deep
through the frame side into the foot rail PART C
and head rail PART D. Glue and screw
#8 x 1-1/4" wood screws flush,
snugging inner wood bed frame
to the foot rail and head rail. �\..

�
����

STEP 15: 
Mounting left and right side rails to inner wood 
bed frame. Drill 1/8" pilot hole 1-1/4" deep 
through the inner wood bed frame into the 
right side rail. Glue and screw 1-1/4" screws 
flush. Repeat for the left side rail. 

�\\.. 
����

� 

STEP 16: --------\
Mounting the side rails B to the foot rail Part C and head rail Part D. 

PAGE 18 

Glue and screw 

Note: Make sure the ends 
and bottoms of the foot rail 
are flush with the inner wood 
bed frame. 

Pivot plates are mounted 
to the inside of the side 
rails B. 

NOTE: Remove Pivot 
Leg Hardware. 

Make sure sides and bottom are flush. Drill 1/8" pilot hole 2" deep through the side 
rails into the foot rail and head rail. Drive #8 x 2" screws flush. 








































	Do not Deviate
	SB Queen Deluxe
	SB Deluxe Assembly

